Rules For Differentiation
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eg. (i) y=7 (iv) y =3x* +6x+2 (vi) Iff (x)=x>-3,
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(vii) Find the equation of the tangent to the curve y =5x° —6x° + 2
at the point (1,1)
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(viii) Find the points on the curve y = x> —12x where the tangents
are horizontal
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. tangents are horizontal at (-2,16) and (2,-16)




A normal is a line perpendicular to the tangent at the point of contact
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(ix) Find the equation of the normal to the curve y = 4x* —3x + 2 at
the point (3,29)
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A note on setting out

When differentiating, you are actually solving an equation i.e. “what
you do to one side of the equation you do to the other”
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